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A -3 -H2A(SH) - HEAMY - BES Of &F 2K plpsgel: Hlns2t
—FAOH BEXE M (ZAR) 2,250 2,500 N250
- FXE B SR Ao AX2(H
2e) 900 1,000 A 100
202 Ol 2,880 3,200 A320
01 2UHoil 2,880 3,200 A320
OFAZ2EY 2T OHI(RZE) 2,880 3,200 A320
206 M2l 27,216 30,239 A3,023
01 M2t 27,216 30,239 13,023
OHAb 2310 42 (H222) 491 545 A54
OFER PY(EZE) 8,478 9,420 N942
OtEI| L ®I| B PL((B2E) 4,522 5,024 A502
OFALZE EE27 I (BLR) 1,350 1,500 A 150
OJIHEH ARE AU(BAR) 5,400 6,000 AB00
OMoiH A2 ALK RU(BL2) 2,250 2,500 A250
OYHg)| ASHE P (HAR) 2,700 3,000 A300
OHIOIZH nM(B2L=) 2,025 2,250 N225
207 1Ry 2,700 3,000 A300
01 ARSAH 2,700 3,000 A300
OFA HAAE RIPHL EAH(B2ER) 2,700 3,000 A300
A AIES2 f. B4 2 A 492,130 554,000 A61,870
401 Al&HI2 2O 492,130 554,000 AB61,870
02 AlAIAAHI 12,730 13,000 A270
O22 HAL AIRA SXBAL AALHES
(B2=2) 12,730 13,000 N270
04 Al&HI 474,700 536,000 A61,300
OF=INT:] 474,700 536,000 AB61,300
—EAL BUP LS AE EXBAHEY
2) 27,000 30,000 A3,000
—22 HA AIRA SYBAH(EZR) 340,700 350,000 29,300
—QIRAFA S ME DAH(BAR) 22,000 36,000 A 14,000
—(F) BAL SLEBAH(ELR) 15,000 25,000 A 10,000
—QIAFAL S A B2 L EY DHS
A(EZE) 15,000 30,000 A 15,000
-2 JIHA 22 DHBAHELER) 13,000 15,000 A2,000
-2 ZUE S22 MHHISAHEZR) 27,000 30,000 3,000
—DIAFHAL SATE TAH(BAR) 15,000 20,000 A5,000
05 22ldl 4,700 5,000 A300
O22 A AIRA SZYTAH(EZE) 4,700 5,000 A300
HHSHAHI(3H D) 25,981,675 25,793,757 187,918
= 170,366 85,800 84,566
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SA B HRA(SH) - MRAY - B 0l &k 24 p[E-Ll HIREY
HY 2L ZHI(3 A = 831,918 0 831,918
Al 24,979,391 25,707,957 NT728,566
25,796,977 25,606,177 190,800
= 170,366 85,800 84,566

AR IH(ZH)
= 831,918 0 831,918
Al 24,794,693 25,520,377 NT725,684
25,796,977 25,606,177 190,800
= 170,366 85,800 84,566

el 2|

= 831,918 0 831,918
Al 24,794,693 25,520,377 NT725,684
101 el 24,421,217 24,421,217 0
= 170,366 85,800 84,566
= 831,918 0 831,918
Al 23,418,933 24,335,417 A916,484
01 Jl=s 14,028,930 14,028,930 0
o=s2 13,152,121 13,152,121 0
T2OIE2AEER 2 FIH) 3,353,373 3,353,373 0
= 170,366 85,800 84,566
= 831,918 0 831,918
Al 2,351,089 3,267,573 N916,484
204 NI AH| 1,375,760 1,184,960 190,800
02 AgE&E2H| 1,022,960 832,160 190,800
OXag=2 x| 1,022,960 832,160 190,800
-6=2 256,680 70,680 186,000
-4= 28,800 24,000 4,800
olet 2 H| (3] H ) 52,780 52,480 300
el =g 52,780 52,480 300
204 MNFAH| 13,500 13,200 300
03 SHER=ESH| 12,300 12,000 300
OSggFR-de3l 12,300 12,000 300
-3 At SESRA(FIHE) 6,900 6,600 300
J|=2&H| 131,918 135,100 N3,182
J|=22AH| 131,918 135, 100 N3,182
201 Bt 48,638 51,820 N3,182
01 ArR2teld| 48,638 51,820 A3,182
OJIZAREEHI(BZ2) 11,988 13,320 A1,332
OJIEt=EHI(BZE) 16,650 18,500 A1,850




